Name

A. Given: AD bisects ZCAB

Date

Prove: ZCAD = /BAD Statement Reason
A
B D c
B. Given: AD | BC
Prove: ZADB = ZADC Statement Reason
A
B D c
C.  Given: DE // BC
Prove: ZADE = ZABC Statement Reason
A
D E




Given:

Prove: ZA = /A Statement Reason
A
b E
B / \ c
Given:
Prove: ZABE = ZCBD
Statement Reason

L

Given: AE // CD
Prove: ZE = /D Statement Reason

L



Name Date
A. Given: ZW bisects ZXWY
Prove: ZXWZ = AYWZ Statement Reason
W
X Z Y
B. Given: WZ 1 XY
Prove: ZX/ZW = AY/ZW Statement Reason
W
X Z Y
C.  Given: FH // EK
Prove: /GHF = /GKE Statement Reason
G
F H




D. Given:

Prove: /G = /G
Statement Reason
G
F /\ i
E / K
E. Given:
Prove: ZLNK = /MNIJ]
Statement Reason
K
L N M
J
F. Given: LK // IM
Prove: ZK = 4] Statement Reason
K
L N M




Name Date

For each problem, do the following:

a. Show the given information in the diagram (using tick marks to show congruent sides and
arcs to show congruent angles)

b. Show any other congruent parts you notice (from vertical angles, sides shared in common, or
alternate interior angles with parallel lines)

c. Give the postulate or theorem that proves the triangles congruent (SSS, SAS, ASA, AAS, HL)
Finally, fill in the blanks to complete the proof.

B D
1. Given: Enﬁ:ﬁnﬁ
Prove: ABCA = ADCE
Statements Reasons
1. 1. Given
A E
2. 2. Vertical /s Theorem
3. ABCA=ADCE 3.
2. Given: E.E;Enm
Prove: AKJM = AKLM
K
Statements Reasons
1. 1.
2. 2. Reflexive Prop.
M
3. 3.
J L
- o
3. Given: /A G=/1; FH bisects /GFI]
Prove: AGFH =AIFH
Statements Reasons
F H
1. /G=/1; FH bisects /GFl | L.
2. L GFH =/IFH 2. Def. of )
3. 3. Reflexive Prop.
4. 4.




Given: ZN and ZQ are right angles; NO = E

Prove: AONP = APQO

Statements Reasons

1. /N and /() are right angles 1.

2. AONP and APQO are

2. Def. of right triangle

triangles
3. 3. Reflexive Prop.
4. NO=PQ 4.
5. 5.

Given: STIWRU : SRITU

Prove: ASRT = AUTR

Statements Reasons

. STIRU 1.

[

B~
3

. Iflines ||, alt. int. /s =

3. SRITU 3.
4. /SRT = LUTR 4,
5. 5
6. 6.

Given: ZW and ZY are right angles; VX = ZX ; X is the midpoint of Wy

Prove: AVWX = AZ¥X

Statements

Reasons

1. /W and 2Y are right angles

1.

2.

2. Def. of right triangle

3. VX = ZX ; X is the midpoint of WY

3.

4,

4. Def. of midpoint

5.

5.

V

Llr




